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 ����  Th
227

90   ����	 
�� �
���
 ���	�������� ��� ������ ���� α 

1�  � /!���	� ����	� "�#.   
%      / ����	� &����� '( ��Th

227

90  
)      /'	��	� ��*+	� ��� ,� �*	���	� ����	� -.# "��� � ����	� /0( 1��� !	*��� %���:  

89Ac  88Ra  87Fr  86Rn  85At  
  
2 !���	� !
��3� **# %45� � No ,� !�
# '6 �*�+��	� �
 ���	��!.��	� &�0      m=1.0.10

-3 
mg   

     -7��: 1µ=1.66.10
-27

 Kg ,  M(Th) =228.65µ                  
3 *�# �6��� � !�5.	� t=0'.# !�
#  No   ,�8
��� �
 ���	�� 7���	� !
#����� .�5.	� *�# !t    

�( !���	� !
��3� **# ,��
 N .   &��
9� :6��	� ,�
�	� ,
�
-Ln N/No = f(t)  
3�1���� ;<���	� ,���< %��� '#�  
3�2���	� "�� ,�= "
��� '7#�   
3�3 �*���#� **5 ,�
�	� -.# :  

 *     ���& '#����� 7���	�  λ  
 *      ����	 ���	� "�� ,�=�
 ���	��    t1/2    
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 ���.��� !
7?� �(����� 8
�� 1�5��  m=900g ��4� -.#  ABC �
5  :  
 �AB��=� �@�� �
?�4� A=+ !
 =35° α '?63� B��4�.	 !�4�	��.  
 �BC�(=��� ��@�* ,� A=+ O �(�7< "�� �   r =10cm  �
5 �=45° θ �=10°β  

       '7��g=9.8m.s
-2    

!7?�	� ,� 8
��	� :.7��A !
@�*��� !#�4 ,�*�  .A=+	� -.# �����5 �+4�  AB '.# ��5�6 
'	��	� �
+4�	�:  

  
  

8
��	� :�7�� !�5	 ������ ,� 
C��	 G0!7?�	� :6��
 B0	�� A*�� � !��=3� ���� '�	� �*�	� �      
 '( ,

	���� ,
.
+4�:=80ms   τ.            

1 &��5.	� '6 8
��.	 !
�5.	� !#�4	� %45� �t2 , t3 � t4  
C���	�� 8
��	� ���� &��5	    
    G2 , G3   � G4  %
���	� -.#. 

2 ��  !�
?	� D���4�a3�4� ����	   !�5.	� '6 8
��	� !	�7# =��� ��t3           
3 � ,��
�	 '���	� ,���?	� �����4�� **5����# B���	� ���4�	� a :�6 �����5 A���� 8
��.	  

� %�
E '6  �@��	� B��4�	�� 8��
< %45� �� &�����5.            

4�  '��
< ,
� "���F� �4�� a3�  a� -.# &�����5� *�+�� ��� !��5	� ,G�   A=+	AB          

  ��?	� �*� %45�f!�7?	� ��7 -.# !���� �(����� '�	� � &�����5F� /0( H6��� '�	�  AB.       
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5 �A=+	� '.# &�����5F� ���� BC � AB  
    �(    !7?�	� *�# 8
��	� !#�4 *+�� C  !����	� !<�7	� 
+�� ����#I� Epp=0J��4�	�  '?63�   

 ���
 B0	�      B    
% (   *+��	����4�'����	�  	 !	�7# =��� !��58
��	� !7?�	� *�# C.       

 8

���� 8

���� 8

���� 8

����<��.��<��.��<��.��<��.��::::)    4�;�-�;�-�;�-�;�-(  
 �
E 8��?.5 �!.��	� ���� K��� ,� ,�� =�=( ����
 

 8����� &��� � !?����k .  -.# K���	� �0( '?.�4
 

 
6�7 *5� �'?6� J��4����
 � !���� !7?�� &��� 8   

 %.� �4+ ��L� 86�7� )S(8�.�� gm 250=,� 8���
 �  

  !
?6� !
��54�� !��5� ��?
 . !6�4�� 8�=��� 
C� ,# �4+	� O
=� X0!
@�*��P !#�4 ,�*� 1��
 ��  

  !�5	� '6 t=0.   
1   .� !.��� &�����5�� ,� K��� !.�+	� ����#I� )�4+  )S( +K���(� !��5	 !
.C���	� !	*���	� %���    )S(  
     !<�7	� ���5�P �*�� �����4I� �� ,��
�	 '���	� ,���?	� :
�7�� A��4 .  

2 . ,P !
.C���	� !	*���	� �5 %��
���	� -.# :( ) 







+= ϕ

π
t

T
Xtx

0

0

2
cos.  

    ����# D���4PT0  !	F*� m �  k.     
3 .�	� ,�  '�5�) x( Epe= f   '.
 �� D���4� '	��	� ���	� '6 OC��	�:  
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����=��
��=��
��=��
��=��
��::::)    4�;�-�;�-�;�-�;�-(  

   F�.5� �C5�S0  ,� K�5'	��	� /=
��� 1
����
F� C0 !.��  !��0I� 1	0 �  m ��  '6 8  �+5V = 1 L   

  ,� A��	� �7?�	�. 0�G�10 cm3  ��.5�	� ,� S0  /*R*�� � 10 ��5�6 &���  ��.5� -.#S1  /=
���  C1. 

  ��+5 �
���V1=20 cm3 ��.5�	� ,� S1��.5� !74���  

  ��
*��	� *
4���*
( (  Na
+

(aq)  +   HO
-
(aq)) 

    '	��	� /=
��� C2 = 0 ,1mol / L  .  

   S��
 ���?�	� ,�
�	� &��
9� �PH  !	F*�  D
=�	�  
    "�C�	� ��
*��	� *
4���*
( �+5V2        .                                   

1. %��� �#���	� !	*��� ��5	����.5� ,
�  
     K�5 ��
*��	� *
4���*
( ��.5� � 1
����
F� . 

2.  T6���	� !7?� "R�# . ����
��*5P *R*5 ��. '( �� 
�
.��	� 
� !7?�	� /0( *�# D
=�	� !�
�7    . 

3.  '	��	� =
���	� D���4� C1 ��.5�.	S1.  
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4. � D���4� !C��5	� &��Ka                                       

      !
@���.	    CH3COO
 -

(aq) )   CH3COOH(aq)  /  (             .  
5.  �����	�� -7�
 �#���	� �0�	 ,=���	� &��� ,� &���k= Ka/Ke8��
< %45� ��  U D���4� �0�� �  

            !�
< *+��m.        C=12 ; O=16 ;  H=1                                                                               
  

8

����8

����8

����8

����>��?�� >��?�� >��?�� >��?�� ::::)    4;�-;�-;�-;�-����(  

   .1            �*4�� '@�
�
�	� ��5�	� V�*� – ��+�P 0� � !
	��	� !	*���	 : 

H2O2 (l) + 2I-(aq) + 2H+ (aq) =   2 H2O +  I2 (aq)                           

   !
	��	�  ��+5	� ��
� A�#� '6  )=�� � :��4	� '@�
�
�	� ��5�	� !4��*	                                                                :
ml     60.0 = 1v ��.5� ,� H2O2 (l)  /=
���   1ZL.mol 2Z10 x 1.00 = 1C. 

   ml 30.0 = 2v ��
4����	� *�
 ��.5� ,� ) Z
I,+K  ( /=
���1ZL.mol 2Z10 x 2.00 =2C     

  ml   10.0 = 3v *� ���� /=
���  &
���	� K�5 ,� H
+�( 1 ZL.mol 0.100 =3C.  

�*  !
@�*��F� �*��	� &�
�� %45�  ,���	�� ��*?� ,,� ��	 : H2O2, I
-
(aq),     H

+
  D
=�	� '6 �*�+��	�

 '.#���	�. 

%*  	� ��5�	� �0�	  �*?�	� ��*+ H��� '@�
�
�. 

)*  '.� ��5�	� �0( ,� ��.# ,!
.� &�#����	� *5� 0��
 -�5 ����� D����	� ,� B� , �*?�	� !�
<  %45�
'��#3�. 

2  . ��( ��0� �	 !
@�
�
� !?
�7� , -�5��	� �4�  ̀��)t (ƒ=x ,�=	� !	F*� '@�
�
�	� �*?�.	     
     ) !?
��	� ����� !?6��	.(  
� * �#���	� "<�� �( 1���+P ��� U. 

% *�#���.	 !
�+5	�  !#�4	� "�#  &��5.	� '6 ���45�                                                    :
min 5= 1t             min 10=  2t            min 28 =3 t 

) * 1	0 ��� U %�4��	� '��5	� ����	� �( �� U ,�=	� ��� �#���	� !#�4 ��7�� "
� 

* *� �#���	� "��  ,�= %45t1/2. 
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 <��.�� 8

���� <��.�� 8

���� <��.�� 8

���� <��.�� 8

����::::)    4�;�-�;�-�;�-�;�-(  
 ����4 !���� ,5��C=1µF !
@�����	� !��5�	� 8��< '	��� *	�� !74���   E . 

%7< '@��� '6�7 ,
� !����	� %��� ,5�	� !
.�# A����P *��  .  
 �( %7?	� '@���	� �0(   :0 !�
�� � ���
��L!.��� ������?� � .  

 ���
��0 !�
�� �� �                          L ������?� � r!.��� �
E .  
 8����?� �
��� �<�� �� �                          R.        

 ����3�)1(�)2 (�)3 ( ����.	 ,�=	� !	F*� �

9�	� '7��Uc  ��	 !�4�	�� 8
.# ��5�	� !����	� '6�7 ,
� ,� 
%7?	� &�
@���	� /0(.  

 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

1 . '6 �*(���	� !
@�
=
�	� ��(��.	 ����� ���� '7#� �� 1��
��P �.�� � :6���	� %7?	� '@��� ��� ��	 7���
!	�5 ��.  

2.��	 =
�� ,�=� =
��� !?��4	� �(���	� ,� ��.!	�5 �� '6 8��
< %45� �� ,�=	� �0( "�# . 

3. !���?�	� !�
< D���4P R !
��0	� � '��3� �<��.	 L!�
��.	 . 

4 .%7< '@��� ��	 !�4�	��:  
�     (V��*�	� %7?	� '@���	� � !����	� ,� ,���	� %
���	� 7#�.  
%    ( ���*.	 !����	� &�����	� '6�7 ,
� &�����	� !<�# *+��.  
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*    (����	� ��??5
 '�	� !
.C���	� !	*���	� *+�� Uc!����	� '6�7 ,
� .  
 ��T4.	 !�4�	�� 1.�# ;�	4'	��	� ��*�+	� '6 :  

  
5 .!.��� ������?� !�
�� '6 !����	� c
��� !	�5 �����. &�<�7	� /0( %45� U ���*	� '6 !����	� &�<�7	� '( ��

  !�5.	� '6t=0.   
6 .!�*��� �
E ������?� !�
�� '6 !����	� c
��� !	�5 �����.�7	� '( �� BG� U��3� ��*	� 8�� ��� �*�?��	� !<

U!<�7	� /0( &*?6 !?
�7 
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��::::)    4�;�-�;�-�;�-�;�-( 

        

 >��?�� 8

���� >��?�� 8

���� >��?�� 8

���� >��?�� 8

����::::)    4�;�-�;�-�;�-�;�-(        

 d��+5 VG� '6 
C�V1= 10 mL ��
4����	� '��� *
4�� :�6 ��.5� ,� 2K
+
,S2O8

-2  

/=
���  C1= 0.04 mol /L 

 !�5.	� '6t0=0 S %�4�  8
.#
 ,� d����� d��+5 ��
4����	� *�K
+
,I

- /=
��� C2 = 0.8 mol/L   
��43� ,�.	� ���
6)'��  (A7��  

1.1Z U 

�4 �� A'7� ��5�	� �( U ��43� ,�.	� ����  �*
 �0�� -.#   
2.1Z &�
@���	� ,� d��.# !
#�+��� �*4�3� �#��� !	*��� %��� Ox/Red ��( �#���	� '6 ,��.��*	� :  

( I2/I
-
 ) ( S2O8

-2
 / SO4

2-
 ) 

3.1Z�#���.	 �*?�	� ��*+ 7#�   
4.1ZU *5�	� �#����	� �( ��   
5.1Z ,�
�	� -.# d�*���#�  ) !?
��	�B ( *+��  
1.5.1Z�#���	� "�� ,�=   

  2.5.1Z *�# �#���.	 !
�5.	� !#�4	� t=5 min    
3.5.1Z *�
	� ����	 !
�+5	� !#�4	� D���4� I2   
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